1.

the 58 2 45 AR e 212

@0,2@,3\/7,—\/;—\@
@0,3%,2«5,—\/;—\/;
@3«/7,2@,0,—\/;—\/;
@2\/1_1,3\/7,0,—\/;—\/2
@3«/7,2@,0,—\/;—\/2

B

OVIT — VAL 3V7 — V63 . \/g> \/gom;_\/g<

2 Zene) A2 ERiw, 347, 2T, 0, — @ - @

N




2.

oFe BololA Felht nE 9 I

V0, V2 + 3, 0.29, V19.6, V8, V144

® 178 @ 274 @37}1 @ 470

® 57§




V3-2
® 3+2V3 @) -3-2+3
@ 3-2v3 ® 3+ V3

B

HE, B2o 247 V342 & HoHH
V3 V3(V3+2)
V3-2  (V3-2)(V3+2)

3+2V3

=-3-2V3




thE AL WESHE A% m,n O] ZELY

X%+ 6x+m= (x+n)?

@m:Q,n:B @ m=9,n=-3 ®m=9,n==6
@® m=3,n=3 ® m=3n=-3

X%+ 6x 7F A FA O] HHE 2* +6x+9 = (x+3)? °)|E=
m=9,n=3°|th.




o =
= O

=

5.

® 2x24+7x+6

@ x%2-4

O 2x%2+3x-2

@x2—|—x—6

® 3x24+T7x+2




6.

x—y= V54 x2—2xy+y? +2x-2y-3 2| g7

@ 25 @ 45
@)2+2V5 ® 3+2+5

® 1+2+5

X% = 2xy+y*+2x-2y -3
=(x=y)?+2(x-y)-3
=(V5)?2+2x V5-3=2+25




S E 2 4x-12=07 2

A9
D x-2=0EEx+6=0 @x+2:0§_%x—6:0

®x-2=0FEx-6=0 @ x+3=0E=x-4=0

® x+3=0E=x+4=0

X —4x-12=0, (x+2)(x-6) =0
Lx+H2=0FEE=x-6=0




(x+3)(x-2)=0,x>+4x+3=0

o2 @3 04 @

B

(x+3)(x=2) =0
x=-3F=x=2

2 +4x+3=0
(x+3)(x+1)=0
x=-3E+=x=-1
A F5E2 -3 ot




9. a>0b<0d T, o F L ALY

@ V942 x /(=6b)% = 18ab

@ -/(3a)? + \/(-2a)% = ga

® /(-5b)% - V16b2 = b

@2 Va2 x \/(=b)? + V25a2b% = ~Tab
® Va?+ \/(-b)>=a+b

B

@ V9a2 x /(—6b)2 = 3a x (—6b) = —18ab

@ - /B + /(2a)? = g

® /(=5b)2 — V16b2 = |5b| - |4b| = ~5b + 4b = —b
® Va2 + V(=b)Z=a-b




10.

VBx 7} A7t 517] 919t x B BT A (T x < 20 9 AFGIS

oltt.)
@D 2,8 @ 2, 4, 8, 16
@)2, 8, 18 ® 2,8, 19

\/8_= V23 X x

X =2, 23, 2 x 32




11. o 55| gIxshe 72ivt vhas AdE A9

D 2+V3: G @B—ﬁZF ® 2V3+1:E

@ V6-3: A @‘/5;4:

B

B

DOVi<V3<ViolAd3<2+V3<4: HF
@-Vi<-V2<-V1dA3<5-V2<4:HF
® Vo<2V3<VI6 AN 4<2V3+1<5: HG
@ Vi< V6<Voold-1<v6-3<0: AB

5 V344

©5<\/§—|—4<60ﬂ/ﬂ§< 5 <3: AE




0= V5, y= V2L, 0hg F A UL A BE T2

D V20 = xy? @100:)62)’2 3 0.2:%
@ V50 = x%y @gz%

X




13.

(2x=5)(x=3) - (3x+2)(x-3) & <A

D (x+3)(x+7)

@—<x—3)(x+7)
©® (x=3)(x+7)

gl

shei?




14, (Bx+1)2-(2x-3)2=Gx+a)(x+b) € W, a-b 2] 727

® 5 @-1 G- @®@-10 -1

(Bx+1+2x-3)B3x+1-2x+3) = (bx—2)(x+4)
a=-2,b=14
La—-b=-6




15.

a®=3a®—a+3°la A7t A A LA Ho=

ul, A AAA) T 17

® 3(1-a) @ 3(a-2)
@361—1 @a3—3

(@)3a—3

B

a*(a-3)-(a-3) =(a®>-1)(a-
=(a+1)(a-
SERP EEREE

3)
D(a=3)

(a+1)+(a-1)+ (a—3) =3a-3 ot}




A w, 92% - 6x + 1 2] B FIHH?

@2 @ -3 ® 3 @ 4

= \/§3+1 —3x-1=20]2&

X
9x% —6x+1 = (3x—1)2
(o) =2




17. oA AA X +4ax+6a+4 =0 °]

®© -2 @ -1 @1

i)

XS

@)2

B

x? +4ax+6a+4=0

x% +dax = —6a - 4

(x+2a)? = —6a — 4 + 4a>
TetA] —q -4 +a* = 00|22
(4a+2)(a-2)=0




18. VI20—x- V57 x o gol 74 2 447} HES she 24A4
o g Fatolat.

> E:

> HE: x=20

V120 - x, V5 +x & T AA57F Hofok gtk V120 - x 7}
A V5 + x 7F Hart HEH x = 20 o]ojof gttt




19. V0.96 2 V6 o] x "ot o] of, x o] gh-2?

1 2 8
o: ©: ® @ =

B

96 4% x 6 4 2
V096 = g5 = Ve —1p V=50
2

..x=5




20. TH& H719] A, B, C, D, EolA 7P & 40k A Ae 40 B
Fotofet.

H7]
@ Vi5=AV3 O V22x52x3=BV3
® 3V3+4V3=CV3 @%:D«/ﬁ

@ V021+ VT=EV3

cCh "
| —

>
[> S l= S |

oH =

B ~

o

@ VEx5x3=5V3 .. A=5
© V102x3=10V3 . B=10

©®7V3 .C=7
3v2v6 6 -~ -
@W—E‘B—\/ﬁ D=1

[21 1 [3 1 .
@ 1_00><?— m—ﬁ\/g..E—o.l

P E S 10, MBS 50l

©10x0.1=1




x o tht o] ZAPLH A (m+1)x% + (m? +3m—4)x—8 = 0 9] g o] 2
o

oF o] 20|82 x =2 E ths5HH
4m+1)+2(m?>+3m—-4)-8=0
2m* +10m - 12 =0
m? +5m—6=0
(m+6)(m-1)=0
m=-6E=m=1
iym=14d,

2x2-8=0

=4

x=2EE=x=-2(-2<00°]B22 B3
i)ym=-6 < o,

~5x%2 +14x-8 =0

5x2 —14x+8 =10

(x=2)(bx=4)=0

4 _
P2 EE = o (R 0] BE grolnz A
we] m= 6 o1, THE @ 2L £ olER x> = -2
a=24,b=5

“a+b=15+2=29




x2 = 6xy 4+ 9y = 0(xy # 0) & o, 9y2—3x+§=094x, yOl &
oozt

> =
> H
> "E ng_?_%lﬁ")
Dgﬂ:y:%E—t—Oﬁ

x2 = 6xy+9y? =0 A (x=3y)2 =0

Sox =3y

X2 =) O|EE 92 et | =09 Aot
9

2 _ —_ =

X 3x+4 0




23. 21/4/8+1024 <] ZH& 5tolet.

cCt "
=

>
l> b= 16

oHd -

B
2V4/8V1024 = 21/41/8/(2°)*

=2vV4V8x25
=2V4x24
=2x23

=24




24. T8 1ol Z1Be] £1)7} 330em? 2 vf, Wi o]
Tola

S
rE
Lo,
N
9
Wl

>
> HEH 310 cm

Hol g el o] & xem

x x2 x 11 = 330, x2 = 90
. x= V90 = 3v10 (cm)

ok

el g




25. 44444444 — 8888 7} oJH 2tA4=2] AFo] & uff, ojH
S

> E:

> e 6666

B

4444 =g R 509

44444444 = 44440000 + 4444 = a x 10* + a ©] 1 8888

2x 4444 = 2q | B2

44444444 — 8888 = ax 10* +a - 2a
=ax10*—a
=a(10* - 1)
= a % 9999
= 4444 x 9999
=4x1111x9x 1111
=36x11112
= (6x1111)2

wehA] of® A= 6666 O]t




